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Part - A

Attempt all question of this Part. Each question carries 5 marks.

1.

3.2)

b)

4.a)

‘X’ has filed a suit for possession of a house against his brother ‘Z’. His claim is
based on a Will. He has examined one attesting witness. But the other attesting
witness is bed ridden and unable to perform his duties in normal course of life. Thus,
the witness is unable to come to the court. Explain the procedure what should ‘X’ do
so that the statement of the witness is recorded?

‘P’ created a trust for charitable purposes and handed over the property to the trustees.
The trustees did not perform the act for the purpose for which the trust was made, for
more than 12 years. After that ‘P’, died and then after 28 years, ‘L’ who was a
beneficiary filed a suit against the trustees for getting back the possession of the
property of trust. Discuss whether the suit is within limitation period or not.

Part - B

Attempt any two questions. Each question carries 15 marks.

A police constable was dismissed by the DIG, Police from service. The police
constable filed a writ in the High Court for quashing the dismissal order on the
grounds that the dismissal order was against principles of Natural Justice and he had
not been given opportunity of being heard. However, the High Court found that the
record showed that the police constable had been given 4 opportunities to put forward
his case. So, the writ was dismissed. Later on, the police constable filed another writ
on the grounds that he had been appointed by the Inspector General of Police but the
DIG Police had dismissed him and since only the appointing authority has power of
dismissal, the order dismissing him from service should be quashed. Now, you decide
if the High Court would entertain second writ. Illustrate your answer with a decided
case. (7.5 marks)
‘A’, is a drycleaner and “X’, is his customer. “X’, has an account with ‘A’. The
account shows a debit balance. So the dry cleaner files a suit for recovery. However
‘X’ takes a defense that the drycleaner has spoilt his two costly suits in the course of
his business. The cost of the suits can’t be ascertained. Explain what should *X’, file
apart from the Written Statement to claim the damages in the same suit. (7.5 marks)

B, C and D who constitute a joint Hindu family executed a mortgage deed of the joint
property in favour of A. A sues B, C and D to enforce the mortgage. D is served with
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b)

5.2)

b)

6.2)

b)

the summons but not B and C. None of the defendants appear at the hearing and an ex
parte decree is passed against all the defendants for sale of mortgaged property. B and
C apply for an order to set aside the decree on the ground that summons were not
served upon them. What would be your decisions so far as the interest of D in the suit
is concerned? Discuss in detail. (10 marks)

X, a contractor who got a contract to build a Fly Over from the State Govt. After
completion of the fly over and its commission, X did not receive the full amount as
sanctioned. For the balance amount he filed a suit for recovery and it was decreed by
the court in his favour. X has also obtained certified copy of the Decree. He wants to
file execution proceedings. His lawyer explain how long he should wait before filing
the application for execution of the Decree or should he file it at once. (05 marks)

An appeal against the judgement and decree of court of original jurisdiction is
preferred to the High Court. Appellant is heard, notice issued and the respondent
appears and then points out that the appeal is cognizable by the District Judge. What is
the proper course for High Court, and why? Answer referring to relevant provisions in
the CPC. (7.5 marks)
A files a suit against B for recovery of Rs 10000. It is decreed in favour of A. Now, A
comes to know that B has an account in the SBI Branch, The Mall, Patiala. The bank
is holding money on behalf of B the Judgment Debtor .What action should A take to
recover the money quickly. (7.5 marks)

The general rule under the Limitation Act,1963 is that once the cause of action has
accrued time starts running but due to Legal Disability the delay may be condoned by
the court and under section 6, Limitation Act,1963 there are 5 conditions when the
time period may be condoned . Explain these five conditions in a simple language
with help of 5 illustrations one for each sub section. (7.5 marks)

A gives a loan to B of Rs 1 lakh on 1-1-19 for a period of one year. Now, the due date
of payment is 01-01-2020. But, B does not make the payment. Now, in this case A
must file the suit for recovery within three years that is on or before 1-1-2023.
However B makes a part payment to A on 31-12- 2021 and also signs a document to
this effect. Now explain whether A must file the suit on or before 1-1-2023 and if the
period of Limitation is extended then what will be last date for filing the suit after the
time period is extended? (7.5 marks)
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Part - A

Attempt all questions of this Part. Each question carries 5 marks.

1)

2)

Ramu and Moni were married in 1990 and out of the wedlock two
children were born. Ramu lived in Patna in connection with his job
and Moni with her children and in laws in Delhi. In Patna, Ramu
developed as extra-marital relationship with Teji and tried to take the
consent of his wife Moni to Marry Teji. On refusal of Moni to give
consent, physical and mental torture was perpetrated against her by
Ramu. After a few days Ramu went back to Patna. He stopped
contacting his wife and children and also stopped sending money to
them. He starts living with Teji. After two years Moni’s body was found
hanging on a ceiling fan. Her children made a statement before the
police that mental trauma inflicted by their father lead to the
mishappening. Discuss and decide in the light of IPC provisions.

X was in the habit of sexually assaulting minor girls and the same was
often facilited by his wife. One day ‘A’(12 years) and ‘B’(16 years) two
minor girls were lured in the house by X’s wife on some pretext. She
(X’s wife) locked the room from outside and stood guard while X
undressed himself and forced the girls to do the same. He touched
both of them on their private parts and was about to commit rape on
the 12 years old girl (the act was short of penile Penetration) when his
wife raised an alarm that villagers are coming towards their house.
Discuss the matter in the light of relevant statutory provision
Contained in IPC,1860.

Part - B

Attempt any two questions. Each question carries 15 marks.

3 a) The whole doctrine relating to provocations depends on the fact that it

causes, or may cause, a sudden and temporary loss of self-control,
where malice, which is the formation of an intention to kill or to inflict



-

TG MNLL
TPATIALALL

Rajiv Gandhi National University of Law, Punjab
(Accredited with ‘A’ Grade by NAAC)

Open Book Online End Term Examination May - 2022
B.A.LL.B. (Hons.) FYIC

Semester- VI

Subject — Criminal Law (Substantive Law-II)

Time - 1 ¥>- Hours Maximum Marks - 40

(b)

5

grievous bodily harm, is negative. Consequently, where the
provocation inspires actual intention to kill... or to inflict grievous
bodily harm, the doctrine that provocations may reduce murder to
manslaughter seldom applies.” Discuss with the help of land mark
court decisions in India and relevant legal provisions.

The accused along with four other associates with a view to teach a
lesson to Keshav for selling a fake gold chain, assaulted him on the
back of the neck with a broken tile and kicked him. The victim fell on
the ground due to the injuries, to vomited blood and ultimately died.
There was no previous enmity between the accused persons and the
deceased. Discuss with the help of decided cases and relevant Legal
Proviosions

(a) X’ took away ‘J’ a minor girl, from her father’s house and kept her
in his own house for two days. One ‘M’ removed her to his house
without X’s knowledge and kept her for twenty days. Thereafter, ‘M’
clandestinely removed J’ to Y’s house and took her to Calcutta. In
Calcutta she was sold in a Brothel for prostitution. Discuss in the light
of the IPC provisions and decide the liability of each of them.

b) “The essence of a woman’s modesty is her sex”. Analyse this
statement in the light of the Legal and Judicial Perspective. How has
the IPC, 1860 evolved over a period of time in the context of protecting
women from sexual crimes?

a) The accused claimed to possess supernatural divine healing power
through his touches, particularly of chronic diseases. X’ approached
the accused for healing his 12 year old daughter who was congenitally
a dumb child. The accused assured her father that she would be cured
of her impairment through his divine powers and demanded a sum of
Rs. Two lakh in four instalments of Rs. 50,000 each. 50,000 was paid
but there was no improvement in the condition of the girl and she
could not speak even after the deadline given by the accused expired.
Discuss the liability of the accused in the light of the IPC provisions.
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b) The accused was working as a servant in a hut in which the
complainant had a stall. The complainant wanted to shift the stall to
another hut and for that purpose, he loaded his goods in a cart. He
was resisted by the accused who refused to permit him to shift and, on
the complainant insisting upon so doing, the accused overturned his
cart throwing the boxes on the road. Discuss the criminal liability of
the accused in the light of legal Provisions and decided case.

On 15 April 2020, a journalist while travelling on a train saw a graffiti
and mobile number which Contained messages seeking girls of the age
between 8 and 13 years for sex offering payment on the toilet door of
the train. The journalist contacted the police, who began undercover
operations using a female officer who was named Rolly for these
operations. An exchange of text messages followed between the
accused and Rolly in which Rolly stated that she was aged 12 years.
The accused invited Rolly to meet him at a particular place and the
accused was arrested at that place by the police. He pleaded before the
court that he should not be made liable for any offence as a trap was
laid down against him by the police. Discuss the above in the light of
Provisions Contained in IPC, 1860. Substantiate your answer with the
help of decided cases.
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Part - A

Attempt all questions of this Part. Each question carries 5 marks.

1. What will be the character of Property in the following cases:
i) Gains of Learning.
i) Government Grants.
iii) Throwing into the Common Stock and Blended property.
iv) Recovered Joint-Family Property.
v) Gift given by Father to Son ‘A’ to the exclusion of Sons ‘B’ and ‘C’.

2. Relevance of Doctrine of Survivorship in Mitakshara in present times.

Part-B
Attempt any two questions. Each question carries 15 marks.

3. What is the liability of S, SS and SSS under the doctrine of pious obligation. Has it
come to an end? Is there any liability on Daughter after 2005.

4.1))  Applying the Rules of Partition i.e. Division of property by Metes and Bounds. How
much share will each coparcener get on partition in the following Illustration.

S]/é
L®E
SSS3 @

SSéS4

i)  What do you understand by the term ‘Severance of Status? What is its consequence?
Does it result in Defecto partition? Elucidate

5.i) A male Hindu ‘A’, dies intestate and is survived by his mother ‘M’, a widow ‘W’, one
son ‘S’, one daughter ‘D’, two children of a predeceased son ‘SS’, and *SD’, and his
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widow ‘SW’, one son and daughter of a predeceased son of his predeceased son
‘SSS’, *SSD’, and ‘SSW’, and a son and a daughter of a predeceased daughter ‘DD’,
and ‘DS’. Ascertain their shares according to Hindu Succession Act, 1956.

i) A Hindu female *W’, dies and is survived by her husband ‘H’, a living son ‘S’, an
unmarried daughter ‘D’, two children ‘S1’, and ‘S2’, of a predeceased daughter D2
and an illegitimate son *S3’.

Ascertain the shares of the heirs according to Hindu Succession Act, 1956

6.1) A testator (Sunni) bequeaths % 15,000/- to ‘A’ , ¥ 30,000/- to B and X 45,000/- to ‘C’,
by the same Will. The net value of his assets is ¥ 90,000/- after payment of his funeral
expenses and debts etc. Ascertain the amount that *A’, ‘B’, and ‘C’, would take as per
Sunni Law.

i) A Muslim woman “W’, dies leaving behind her parents “M’, and ‘F’, her husband ‘H’,
and three daughters ‘D1’, ‘D2’ and ‘D3’. Determine their shares.
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Part - A

Attempt all question of this Part. Each question carries 5 marks.

1. Plaintiff Company, (Heather and Co.), is into manufacturing of beverages since
1998 and launched a new beverage under the name of “7 UP” for soft drinks.
Within a period of one year of its launch they became a well-known trademark in
the market. Defendant Company, (Sunrise Foods and Beverages), also launched a
beverage under the name of “7" UP”. Both the products are used in the urban and
semi urban areas. Defendant Company applies for trademark registration. Advise
the defendant company whether the trademark can be given to “7™" UP”.

2. A.G. Dailmer, a Swiss Company, is into manufacturing of medicines and applied
for patenting the process for the preparation of a Vaccine for infectious bird
disease. The Assistant Controller of Patents & Designs refused the grant of the
process for the preparation of VVaccine on the ground that it contains living virus.
Discuss and decide with relevant provisions and case laws whether the patent can

be granted for a living naturally occurring organism.

Part - B

Attempt any two questions. Each question carries 15 marks.

3. The plaintiff, Mr. Tom, was the owner and publisher of the first directory. The
defendant, Mr. Morris, came out with another directory. Mr. Tom sought an
injunction against Mr. Morris to restrain the publication of his directory on the
allegation that he was guilty of appropriating the information contained in Mr.
Tom’s directory and took advantage of many years of incessant labour and

expense of Mr. Tom’s work. Mr. Morris contended that he did use the information
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but did not copy it and applied his own expertise. In light of these facts discuss
whether Mr. Morris work would pass the test of originality.

4. The Plaintiff, GLENSMITH PHARMACEUTICAL is a pharmaceutical company,
which is engaged in manufacturing an anti-rash cream ‘CALSOL’. The
Defendant, BOATMAN LABORATORIES is the proprietor of a similar drug as
of the Plaintiff’s, being sold under the trade name ‘ALSOL’. It was brought to the
notice of the Plaintiff that the Defendants were engaged in manufacturing and
selling a similar product under a similar mark having the similar artwork, trade
dress. label etc. Thus, the Plaintiff filed a suit against the Defendant for
infringement of their Trademark. Discuss and decide with the help of relevant case
laws.

5. “Anticipation does not require actual performance of suggestions in a disclosure.
It only requires that those suggestions be enabling to one of skill in the art”. In
light of the above statement elucidate the grounds of patentability of an invention
with the help of case laws. Also discuss the standard of anticipation under the
Patents law.

6. Ferrero Rocher, is a world famous brand of the U. S. A. for its chocolates. It is a
registered GI. The chocolate is exported to many other countries as well. The
problem in the instant case was the defendants was running various restaurants
and coffee bars. In their different chains that were established across the world
they used the words “FERRERO ROCHER COFFEE BARS” in some of their
lounges which served coffee to high end customers. Considering the laws of the
U.S.A. in pari materia with the GI Act of India, discuss and decide whether the
use of the word “FERRERO ROCHER?” is an act of infringement and can the

defendants be held liable for the same
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Part - A

Attempt all question of this Part. Each question carries 5 marks.

1.a) Briefly comment upon the means for peaceful settlement of disputes in the context of
the Russian invasion of Ukraine. (3 marks)

b) Suggest a possible scenario for peace that both Russia and Ukraine are likely to accept
to minimise further loss. (2 marks)

2.a) The League of Nations promoted peaceful resolution of territorial claims among
nations. Briefly explain three cases when it failed, eventually leading to the World
War I1. (3 marks)

b) Briefly comment on two reasons that led to its failure. (2 marks)

Part - B

Attempt any two questions. Each question carries 15 marks.

3.a) Critically analyse the geopolitical relevance of the Himalayas in India-China border
conflict? Critically analyse. (5 marks)

b) Recommend five steps India needs to take to secure its Himalayan borders on the
basis of the Rimland Theory. (5 marks)

C) What role would air power play in case China launches a full-scale invasion of
Ladakh? Elaborate using the comparative method. (5 marks)

4.a) Realism and liberalism are the two dominant theories of international relations and the
critical theory is an elaborate critique of the dominant theories. Explain the differences
between realism and liberalism citing the relevant scholars in the field. (5 marks)

b) Discuss the relevance of Horkheimer’s concept of critical theory to international
relations. (5 marks)
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c)

5.2)

b)

Give your views on whether nations play the game of international politics or coexist
in an international society, juxtaposing critical theory with realism and liberalism. (5
marks)

According to Dag Hammarskjold, ‘The UN was not created to take mankind to
heaven, but to save humanity from hell.” Since the death of Dag Hammarskjold in a
suspicious plane crash on 18 September 1961, how much has the UN succeeded in
achieving the goals set by him? Discuss. (5 marks)

To what extent have been the later UN Secretary Generals able to step in his shoes?
Discuss. (5 marks)

What steps are necessary to make the UN a relevant institution in the 21% century?
Discuss. (5 marks)

According to Chimni, ‘A network of economic, social and political international
institutions has been established or repositioned, at the initiative of the first world, and
together they constitute a nascent global state whose function is to realize the interests
of transnational capital and powerful states in the international system to the
disadvantage of third world states and peoples. The evolving global state formation
may, therefore, be described as having an imperial character.’

Critically analyse Chimni’s characterisation of international institutions as ‘imperial
nascent global state’ from social, economic and political perspectives. (3+3+3 marks)
What are the Third World alternatives to the dominant institutions in the international
system? (3 marks)

What are the various reform initiatives of the Third World to reform the dominant

institutions? (3 marks)
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Part - A

Attempt all question of this Part. Each question carries 5 marks.

1) Do you agree with the view that globalization in India has led to unequal
competition and disproportionate growth? Give arguments in support of your
answer.

2) Using Fisher’s formula, construct the price index number for the following data:

Commodity Unit Base Year Current Year

Price (Rs.) Total Quantity Total
Value Value

(Rs.) (Rs.)

A Kag. 12.5 125 12 156

B Kag. 14 112 9 135

C Metre 11 88 9 108

D Kag. 13 78 6 90

Part - B

Attempt any two questions. Each question carries 15 marks.

3) “Goods and Services Tax has ensured that integrity of tax chain is maintained
throughout the supply chain up to the stage of consumption.” In light of the
statement, discuss as to how GST is different from the previous indirect tax
system? Also comment on the revenue implications of the GST in India.

4) Examine the pattern of India’s foreign trade in recent times. Can self-reliance
oriented policy of trade serve as an instrument of economic development? Give
arguments in support of your answer. Also discuss the challenges in formulating

India’s new foreign trade policy.

5) a) Represent the following data by a percentage component bar diagram:
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Item of Expenditure Family A (Income- Rs. Family B (Income- Rs.
500) 300)
Food 150 150
Clothing 125 60
Education 25 50
Miscellaneous 190 70
Saving or Deficit 10 -30
(7.5 marks)

b) Draw a frequency polygon with the help of histogram for the following data:

Age(in |, ¢ 511 | 11-12 | 12-13 | 13-14 | 14-15 | 15-17
years)
No.of | oo | 3066 | 497 477 496 143 162
boys

(7.5 marks)

6) From the data given below, explain and illustrate which series is more variable.

Values Series A Series B
10-20 10 18
20-30 18 22
30-40 32 40
40-50 40 32
50-60 22 18
60-70 18 10
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Part - A

Attempt all question of this Part. Each question carries 5 marks.

1) Sexuality is one such dimension of society, which influences crime and criminology
to a large extent. Illustrate.
2) How are Sex Ratio and Child Sex Ratio influenced with varying levels of Education

in an area?

Part - B
Attempt any two questions. Each question carries 15 marks.

3) Discuss how the difference between the terms ‘Sex’ and ‘Gender’ is important in
conceptualization *Sexual Division of Labour’?

4) ‘Liberal Feminist Perspective possesses such notional premises/ philosophical
explanations, which easily escape a broad criticism’. Discuss?

5) Political participation of women in India has to be discussed in context of Rural-
Urban Dichotomy for a complete understanding’. Do you agree or not? Discuss.

6) Give a detailed note on ‘Emerging Crimes against Women’. Do you think that Law

responds to the sexual offences and crimes efficaciously?
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Part - A

Attempt all questions of this Part. Each question carries 5 marks.

1.

Identify the income eligible to be clubbed with the income of the accessee. Also support

your answer with appropriate reasoning-

i) Mr. A is one among 6 equal partner of a partnership firm, where Mrs. A gets
remuneration of 1 lakh per month without having any technical qualification.

i) Income generated by Taxi transfer by Mr. A to his Son’s wife at the time of their
engagement.

iii) Rent generated from a commercial building, transferred by Mr. A in the name of his
nephew to support his education.

iv) Mr. A transfered a Commercial building in the name of his spouse for an adequate
compensation.

V) Income generated from the Youtuble Channel of the minor daughter of Mr. A.

Classify these assets into the ‘long term’ or the ‘short term’ Capital Asset as per their
period of holding under the Income Tax Act, 1961. Justify the answer with reasoning.
i) Farm House, purchased on 24.02.2020 and sold on 17.03.2022.

i) National Defence Gold Bonds, 1980 purchased on 15.03.2019 and sold on
29.02.2021.

iii) ‘British Raj’ painting by M. F. Husain, purchased on 07.03.2019 and sold on
01.02.2022.

iv) Shares of Asian Paints, sold on Bombay Stock Exchange 23..5.2022 which were
purchases on 12.03.2021.

v) Agricultural Land in Urban Area, purchased on 21.07.2018 and sold on 22.04.2020.

Part - B

Attempt any two questions. Each question carries 15 marks.

3.

Mohan carries on the business of tea leaves grown in his agricultural field situated in
Uttarakhand. These fields were subject to land revenue. In some of his agricultural fields
Mohan constructed buildings which were given on rent to his employees, growers of tea
plants. He advanced various loans to these growers and realised interest from them.
Decide, whether the rent and the interest realised by Mohan would be his agricultural
income. Substantiate your answer with relevant case laws.
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4. Suresh owns a house property. The Municipal valuation of the property is Rs. 3,20,000,
Fair rent is Rs. 2,95,000 and Standard Rent is Rs. 1,50,000. It is let-out throughout the
previous year, rent being at the rate of Rs. 12000/- per month up to 10.10.2021 and then
at the rate of Rs. 22,000/- per month. Suresh sold the property to Mukesh on 2.02.2022.
Suresh paid a sum of Rs. 15,000/- as Municipal Taxes and spent Rs. 20,000/- on repairs
in the said previous year. On the basis of the above facts, answer the following:

1) Find out the Gross Annual Value of the property in the hands of Suresh for the
assessment year 2022-23.
i) Compute the income of Suresh under the head *Income from house property’.

5. Ramesh is a Salaried employee of Indigo Dye Ltd. where he is working on a consolidated
salary of 80,000 per month. Ramesh also owns a merchandise shop and in the financial
year 2020-21, he has incurred a loss of 2 lakh rupees. He is also the owner of three
residential houses. In the financial year 2020-21, due to COVID-19, two of his house
properties resulted in an overall loss of 4 lakh and 6 lakh respectively. Although over one
property he received a profit of 2 lakh rupees. In the financial year 2021-22, He quit his
job and started dedicating his entire time and energy to his business. He earned a total
profit of 15 lakh in the financial year 2021-22. In FY 2021-22 two of his house properties
earned him a profit of 2 and 3 lakh respectively. However, in one house property, he had a
loss of 1 lakh rupee.

In light of the above facts, decide-

i) Taxable income of Ramesh in the financial year 2020-21.
i) Taxable income of Ramesh in the financial year 2021-22.

6. Upasana, a leading actress was shooting with a renowned film director. While she was
returning home on 21.3.2022, she received a call that Income Tax authorities are on their
way to her house for conducting a search operation on the basis of a video where she is
seen accepting cash worth Rs. 1 Crore and Jewellery worth Rs. 60 Lakhs as signing
amount for a movie. The authorised officer during the search party seized the stated cash,
jewellery and also found additional cash amounting to Rs. 20 Crores and books of account
from her premises. He seized the entire cash, jewellery and books of account which was
challenged to be arbitrary and unconstitutional by the assessee. Decide whether the action
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taken by the authorised officer is justified. Elaborate with the help of relevant provisions
of the Income Tax Act, 1961.
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